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Questions

The germs present in it cause typhoid.

Which disease is caused due to air pollution?

There are cotyledons in the gram seed.

The outer covering of seed is called.

These are coloured leaflets which forms the second whorl.

These are green leaflets which form the first whorl.

It consists of stigma, style and ovary.

It consists of anther and filament

It is neck like structure which is belows tje stigma that is

The male gamete and female gemets fuse to form the

Answers Choice

. Sewerage water
. Fertilizers

. Factory waste

. Insecticides

. Diarrhea

. Lungs cancer
. typhoid

. Cholera
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. Cotyledon
. Seed coat
. Micropyle
. plumule
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A. Petals
B. Sepals
C. Filament
D. Anther
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. Petals

. Speals

. Filament
. Style

. Carpel
. Stigma
. Ovary

. Style

. Carpel
. Stigma
. Stamen
. oVary

. Carpel

. Style

. Stamen
D. Filament

A. embryo
B. Zygote
C. ovary

D. Filament



